Sf2ES5H20H
=IRTSISLAE/ VR (RlEE R

ZIPRTISLSLAE /N
W KEE  IEAT

6 HMNDDBERIZOWT (JKEE)

FEOE, EIFIZEMNEL L, BATHEREDOZ L LBECHRL FITET,

ST, AT 6 A 1 ROERBRICHD, REOFRRELEELCTL 2 BETHH
BRAERTHZ LRV ELE,

DEFELTE, ARICBWTTRROERBY, RENIBIZRIZZ 2T RN LKL
FTRAEBIZENTWTS L9, DHEROBRZREN-LELE, RENLIIFELET
N, TEBEZHAHEBENLET,

B

1 ZEBEROLFIZONT
(L)ZETDIN—T51F RBETROLELXEZAMX L ORKE LET,
CAGL—T - - REFS B - AER-EINF - LER - dRIK
-BYIIIL—T « ER (ZHMAHK) - TDOEFEHER
(2)R%
-6A18 (A). 28(X)
— ATIL—T=FFEBEK B0 FT)~9:50TF#K
BIL—T=2BMEBhER1000XT)~11:50FkK
HK2FAERYLDAVN—DERMTERT S, BTIL—TIIERIOEARY
F2HET O LTEE>TERLTLESLY,
X1E£F6A28 (K) OAZEK(13:30~) M ERTT,
6 AR (K ~1 2B FEFTCAYIL—TEBYIL—THA—BXEIZEBKT S,
—AJIL—F=6A3HB0K), 58 (£), 9B(X), 11H (K) BEZH
BJIL—F=6HA4RB(K), 8H (A), 10HUK). 128 (&) BEZK
KIFLEEZZOTEBERIETEKT D, BRIIOUEN 1 8 (A) FRIC, 154
DTHEIZHOEESH - EARFL 2B LHIITEET, WHo Lo bR
WBEIIAZXNTBEL LET,
-6 A1 3B ()M BEBERTITRL LRETOBRKREZITWET,
%1 3 H () ILMREELEERE T, EEBRRIETER, 11:50 FKTY,

2 Fofth
B E ., B - TREEZICSOWCOEEMIT., RES TELEF SN,
- RBOERERICERT I o L =AM (N EY) oS EBEVWLET, (14
AFREET,)
VAV EFERL, 3OOBIIKEMT TERTOAFE XV EL L 5,
- A%, ERROBMICLY, EROMETEERNHIBEIT. FHOHPRA—/L
B2 CREEKZ V- LET,



Wl HE—0C:TT (R -
00 :8 FEE
0661 1% 04661 1% 06:ST ¥ 00:61 1% 00:6T 1% 00:€T M8 (IZLH = |lgziyg
00:8 1% 008 a1% 00-8 % 00:8 1% 00:8 1% 00-8 1% [E=ihE=s
1% 06:G9T 1% 06:6T 1% 0G:GT 1% 00:97 1% 00:9T 1% 00:€T SRR HTTHY
1% 00:8 1% 00:8 1% 00:8 1% 00:8 % 008 1% 00:8 | FauE
0G:GT 1% | osst 1% | osst 1% || ossr 1% [ osst 1% || ooer N I I
008 1% 008 1% 00:8 1% 008 1% 008 1% 008 1% | eEE
1% 046:691 1% 06:67 1% 0G:GT 1% 06:46T7 I1% 0G:9T 1% 00:€T &0k H96 9
1% 00:8 1% 00:8 1% 00:8 1% 00:8 % 00:8 1% 00:8 || esuwE
0667 1% 046:9T 1% 0661 1% 04:GT a1% 00:GT 1% 00:€T 1% (ELH3 He 9
00:8 1% 00:8 1% 00:8 1% 00'8 1% 00:8 1% 00:8 1% [FESRAEN
1% | ossr 1% | ossr 1% | ogst 1% | osist 1% | oot 1% | ooer || memmmL qe Bo
1% 00:8 1% 00:8 1% 00:8 1% 00:8 1% 00:8 1% 00:8 | fzsrE
0e-€T 1% 0€:€T 1% 0E€T 1% 0€€T T 0E€l 1% 00:€T 1% LSRR Hr B9
008 % 00:8 1% 008 1% 008 1% 008 1% 008 1% || maus
1% 0¢-€T 1% 0€ €T 1% 0€ €T 1 0€:€T 1% 0g€t T 00:€T &k ¢ oo
1% 00:8 1% 00:8 1% 00:8 % 00:8 1% 00:8 % 00:8 || mrsimE
0G'TT 06:6 0611 066 0G'TT 0G'6 0611 066 0611 066 GT [FESRAAE 5z Y9
00:0T 00:8 00:0T 00:8 00:07 008 00-0T 00:8 00:0T 00:8 €T EciR s
0G:TT 0S-6 0G:1T 066 0671 066 0G6°TT 066 0G'TT 0S'6 1% 1% =R 51 Mo
00:0T 00:8 00-0T 008 00:0T 00:8 00-0T 00:8 00:0T 00-8 1% 7 [ESiRaE=Y
9= 9 V=9 a= g V£ G 9= v VE ¢ dE ¢ YE ¢ a7 VE¢ d=1 VET < 21H
TRCR - M{WHZI WY D2 NCFE8E ] - [FEE - HEE S A&




